MIA M I-DADE ' MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) - 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Pozzi Window Company
62845 Boyd Acres Rd.
Bend, OR 97701

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Aluminum Clad Geometric Shapes Direct Set Wood Fixed Windows

APPROVAL DOCUMENT: Drawing No.S-2329, titled “ Direct Set Fixed Aluminum Clad Wood Windows”,
sheets 1 through 6 of 6, dated 1/14/03, with revision #1 dated 5/5/03, prepared by R W Building Consultants, Inc.,
bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 03-0204.08
Expiration Date: May 29, 2008
Approval Date: May 29 2003
Page 1




Pozzi Window Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No.S-2329, titled “ Direct Set Fixed Aluminum Clad Wood Windows”,
sheets 1 through 6 of 6, dated 1/14/03, with revision #1 dated 5/5/03, prepared by R
W Building Consultants, Inc.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a direct set rectangular
60 x 120” aluminum clad wood fixed window, prepared by Architectural Testing,
Inc. Test Report No. ATI-03-31488.01, dated 11/25/02, signed and sealed by Steven
M. Urich, P.E.
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a direct set rectangular
48” x 96” aluminum clad wood fixed window, prepared by Architectural Testing,
Inc. Test Report No. ATI-03-31488.03, dated 11/26/02, signed and sealed by Steven
M. Urich, P.E.
3. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a direct set half round”
48” x 60” aluminum clad wood fixed window, prepared by Architectural Testing,
Inc. Test Report No. ATI-03-31488.08, dated 11/26/02, signed and sealed by Steven
M. Urich, P.E.

C. CALCULATIONS
1. Anchor Calculations, dated 1/13/03, prepared by by R W Building Consultants, Inc.,
signed and sealed by Lyndon F. Schmidt, P.E.

0 03-0204.08

Expiration Date: May 29, 2008
Approval Date: May 29 2003



Pozzi Window Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

D. MATERIAL CERTIFICATIONS

1.

None.

E. STATEMENTS

1. Statement letter of conformance, dated January 13, 2003, signed and sealed by
Lyndon F. Schmidt, P.E.

2. Statement letter of no financial interest, dated January 13, 2003, signed and sealed
by Lyndon F. Schmidt, P.E.

3. Statement letter of no financial interest, dated January 13, 2003, notarized and
signed by Steve Strawn.

4. Statement letter naming Mr. Rick Wright as representative and contact person,dated
December 12, 2002, notarized and signed by Steve Strawn.

5. Letter from Consultant dated April 08, 2003.

F. OTHER
1. None.

NOA No 03-0204.08

Expiration Date: May 29, 2008
Approval Date: May 29 2003



- 60” 0.A. FRAME WIDTH ~ 51" MAX. %
POzZ] WINDOW COMPANY [~ 56.168” MAX D.L.O.~] W/NAILING FLANGE <5
q 48" 0.A. AT
ALUMINUM CLAD WOOD WINDOWS FRAME WIDTH S O
FIXED FRAME DIRECT SET SERIES (NON-IMPACT) 44.22" OIAIN
/ | MAX.<] D.L.O. O % o
(/ N 2= 3
GENERAL NOTES O _ o
| : 4 | 803y
1. THIS PRODUCT IS DESIGNED TO MEET THE FLORIDA BUILDING CODE. T g Vi . ZOK ™
2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER b - L 2 20O <
LOADS TO THE STRUCTURE. W s s & 2 NQ S0
3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN ON 3 g 4 0¥ N 55 .
DETAILS (SEE SHEET 5 OF 6). ANCHOR EMBEDMENT TO BASE MATERIAL R RECTANGLE /D S w2 O T
-SHALL BE BEYOND WALL DRESSING OR STUCCO. < @ voil\s/ Y (2N % 3 X D.omo
4. THIS SYSTEM REQUIRES WINDBORNE DEBRIS EXTERNAL PROTECTION S g VIl = £ <
AS PRESCRIBED IN SECTION 1626.1 OF THE FLORIDA BUILDING CODE. Lz ADIUS TOP N o< =
5. FOR DESIGN PRESSURE RATING SEE CHART THIS PAGE: N Y N © % Saul
6. THIS PRODUCT MEETS WATER REQUIREMENTS FOR THE "HIGH VELOCITY 4 /) e © = <3z W2
HURRICANE ZONES". | y 3 LSy 28
7. ASYMMETRIC SHAPES ALSO APPROVED FOR MIRROR IMAGE ABOUT Vi 4 H3s|2 I3
VERTICAL AXIS. _2oE 2N
\ ) 5391 Wi
. 238|4 & 4
§5<§ § )
1\ . o o
2, SE
1 7l o
/;{';7,4{; /5 //;///}? ©
5| 6
SYMMETRIC PENTAGON RECTANGULAR TRAPEZOID % %I
o |
ASYMMETRIC PENTAGON OPEN BOTTOM OPEN BOTTOM FULL ROUND <Q(
QUARTER ROUND HANDED SECTOR RADIUS TOP 8
N
NE
iTe)
—lo
=
]
TRIANGLE OCTAGON HEXAGON RWBU"-D'NG
CONSULTANTS, INC.
ELLIPSE HALF ROUND QUARTER ROUND VAL ||| 813-659.9197
TABLE OF CONTENTS o 1,/14/03
SHEF #'GENERAL S A?\ESCTEEI:I:F N DESIGN PRESSURE RATING ALL MODELS SHOWN Approved s complying with the  |SCAE: N.T.S.
> TVERTICAL CROSS SECTION & GLAZING DETAILS GLASS TYPE | MAX. LENGTH & WIDTH | MAX. SQUARE FOOTAGE | DESIGN PRESSURE . Florida Biding 18 bwe. B: ZRK
3 Eggﬁo%\ﬁs%?gcsﬁoﬁE%E%_Ss& ANCHOR_NOTES INS. TEMP. 60" X 120" 50 SQ. FT. + 50.0 — 50.0 NOA# o B NORW
4 » n . _ il M
5 [TYPICAL ANCHORING & ANCHORING NOTES INS. TEMP. 48" X 96 | 32 sQ FT. + 650 - 65.0 $—2329
6 COMPONENTS & BILL OF MATERIALS INS. ANN. 48" X 60" 20 SQ. FT. + 75.0 -~ 75.0 seer 1 o 6




120" O.A. FRAME HEIGHT

116.168" MAX. D.L.O.

.
mﬁﬁ T T ol
-Z
S N
D 12
SEE NOTES
1, 2, 3 & 4
SHEET 5
EXTERIOR INTERIOR
\ SEE NOTES
D1 2 3 & 4
(6)6A)
=N} EA]
4
ﬂ ,L7‘I ,// i~
\ S
7 7 to W
i "z
s

<

l*—. MIN. 3.5” ——‘—I

( )!ERTICAL CROSS SECTION, TYP,
WITHOUT NAILING FLANGE

SEE NOTE 3@\
SHEET 5 |

SEE NOTE 2
SHEET 5

| e S

1.15”
MIN. EMB.

) \ }\\\\CD

s

EXTERIOR

>

®

120" O.A. FRAME HEIGHT
116.168” MAX. D.L.O.

<D,

e
y ﬁ%i\{)
SEE NOTES
1, 2, 3 & 4
SHEET 5
INTERIOR
SEE NOTES
1)1 2,3 & 4
SHEET 5
4
| 71/ o
/I / { Ve
~-Z
S

.'q

MIN. 3.5" —I

< )MEETI%L CROSS SECTION
WITH NAILING FLANGE

& OPTIONAL DRIP CAP

3/16” TEMPERED GLASS (5mm)
I 9/16" AIR SPACE
\\/\

3/16” TEMPERED GLASS
~N ‘ (5mm)
\\
15/16"
MAX. THK.
17,
//@
5
5 A
B e

TEMPERED INSULATED GLASS DETAIL

1/4" ANNEALED GLASS (6mm)
7/16” AIR SPACE

r— 1/4" ANNEALED GLASS
\\

UN (6mm)
N
15/16"
MAX. THK.
17,
30
5
5 : A
D 4l e

L
7%

ANNEALED INSULATED GLASS DETAIL

>=
Z .
<« N
A ¥ —
®)
%(f)l\
LN
Oxo
QO
2zz3
O _ o
Ao N
Z 5w 3
=0nxp™
=TO o
=LO -
§2g®
0z -
ONiu T
oL omao
=z
2
[75]
Dol &
XI= mE
“-0]l..
>—
L=Z|2 8o
wIF|E L
(&Y I7]] N
O29l9 43
.. ~|O <o
ElXIF|x| O
= o Eg
3 g &
A
2
[©]
=Z
o
o [78]
5 6
il
1
8 4
<C
3
Ll
RE
T
—lo
=

=%%I/BUILDING,

CONSULTANTS, INC
813.659.9197

Approved as complying with the
Florida Buiding {gde

DATE: 1/14/03

SCALE:  N.T.S.

DWG. BY: . ZRK

CHK. BY: RW

DRAWING NO.:
S—-2329

SHEET 2 OF _6




SEE NOTES
1, 2,3 & 4

Vi

INTERIOR

POzzl WINDOW COMPANY
62845 BOYD ACRES RD.
BEND, OREGON 97701

PH. 541.382.4411

I“——— MIN. 3.5 —°|

1.15”
MIN. EMB.
SEE NOTES
= T 1, 2, 3 & 4
SHEET 5
@(:I:l
SEE NOTES
1, 2, 3 & 4
SHEET 5

116.168" MAX. D.L.O.

120" O.A. FRAME HEIGHT

< )HOBIZONTAL CROSS SECTION, TYP,
WITHOUT NAILING FLANGE

>

NTAL CROSS SECTION, TYP
WITH NAILING FLANGE

32) SEE NOTE 5

SHEET 5

0

EXTERIOR

&)

WOOD WINDOWS

ALUMINUM CLAD
PART OR ASSEMBLY:
HORIZONTAL
CROSS SECTIONS

DIRECT SET FIXED

PRODUCT:

RW
BY

REVISIONS

1 15/5/03 |ADD ANCHORING

NOJ DATE

t%(]MBUILDING

CONSULTANTS, INC/
813.659.9197

DATE: 1/14,/03

SCALE:  N.T.S.

Anproved as complying with the
Florida Byidipg Coge

DWG. BY: ZRK

CHK. BY: RW

DRAWING NO.:
§-2329

SHEET _ 3 oF _6




(

\
\
o1

,‘/
\\
—
A\
T /
\/

\
4
\

DETAIL "A”
SPRING LINE FRAME SUPPORT SYSTEM

RADIUS FRAME CONSTRUCTION:

FRAME CONSTRUCTION ON RADIUS UNITS IS CONSISTANT

TO STRAIGHT LINE OTHER THAN THE JAMB IS SUPPORTED
AT THE SPRING LINE OF THE SIDE JAMB WITH A SCREW
PLATE WHICH IS SECURED WITH 10 — #8 x 3/4" SELF-
TAPPING SCREWS (5 IN EA. JAMB). IN ADDITION, THE METAL
EXTRUSION IS SUPPORTED WITH A 1/8" x 3" BRASS ROD
IN THE SCREW BOSS AND A 1/8" x 11/32" x 3" STRAIGHT
FRAME KEY WHICH IS POSITIONED INTO THE CORNER KEY
SLOT OF THE TWO JAMBS. A #8 x 2" FLT. HD. PHL. SCREW
IS FASTENED DIAGONALLY FROM THE UPPER JAMB TO THE
LOWER BEFORE THE JAMB EXTENSION IS APPLIED. THIS
COMPLETES THE INSTALLATION.

HEAD JAMB

N SIDE JAMB

(9

DETAIL "B”
FRAME CORNER FASTENER DETAIL

FRAME CONSTRUCTION:

THE WOOD FRAME IS 3.344" x 1.218" FINGER—JOINTED PONDEROSA
PINE. THE FRAME METAL IS 1.969" x 1.875" x .060" WALL EXTRUDED
ALUMINUM. THE FRAME METAL IS SNAPPED AND STAPLED ONTO THE
WOOD JAMB AND MITRED AND SEALED WITH SILICONE (1199 DOW
CORNING). EACH CORNER IS FASTENED WITH (3) #8 x 2" FLT. HD.
PHL. SCREWS. TWO IN ONE JAMB AND ONE IN THE ADJOINING JAMB
AT THE MITRE. AN ADDITIONAL #8 x 1" FLT. HD. PHL. SCREW IS
APPLIED INTO THE SCREW BOSS OF THE ALUMINUM EXTRUSION AND
(2) CORNER KEYS .125" x .344" INTO THE SLOTS OF THE ALUMINUM
EXTRUSION TO COMPLETE THE CORNER CONSTRUCTION. THE JAMB
EXTENSION IS 1.375” x .656" PONDEROSA PINE ATTACHED TO THE
WOOD JAMB WITH 2" x 15 GA. NAILS 1" FROM THE END AND 8" O.C.

AND SCREWED AT CORNERS WITH #8 x 1 1/2" FLT. HD. PHL. SCREWS.

POZZI WINDOW COMPANY
62845 BOYD ACRES RD.
BEND, OREGON 97701

PH. 541.382.4411

DIRECT SET FIXED

ALUMINUM CLAD

WOOD WINDOWS
DETAILS

PART OR ASSEMBLY:
FRAME CONSTRUCTION

PRODUCT:

14
BY

1 15/5/03 |ADD ANCHORING

NOJ DATE

REVISIONS

RWBUILDNG

CONSULTANTS, INC
813.659.9197

DATE: 1/14/03

SCALE:  N.T.S.

pwe. BY: ZRK

CHK. BY: RW

DRAWING NO.:
S—-2329

sHEET 4 oF _6




NOTES: ANCHORING FASTENING TO WOOD SUB—BUCKS

1.

» 13” MAX. . "
l4*h i
0.C.
i 1 ] I ! ‘
o T
v "
3
- - 29
x O
&O
v %
] |1
1 1 I I 1 f 3
4" ] |__ 130.g.AX. 4 :

TYPICAL RECTANGULAR
UNIT ANCHORING

4 130.rg.Ax.

{

PICAL _GEOMETRI
UNIT ANCHORING

RECTANGULAR UNITS —

SHORT SIDE — 4” FROM EACH CORNER AND MAX. 13" ON CENTER.
LONG SIDE — 4” FROM EACH CORNER AND MAX. 13" ON CENTER.

GEOMETRIC UNITS -
ALL SIDE — 4" FROM EACH CORNER AND MAX. 13" ON CENTER.

RADIUS UNITS —
SILL — 4" FROM EACH CORNER AND MAX. 13" ON CENTER.
LONG SIDE — 4” FROM EACH CORNER AND MAX. 13" ON CENTER.

AT RADIUS — 1 FASTENER AND IF UNIT EXCEEDS 60" IN HEIGHT ADD
ADDITIONAL FASTENER 4" BELOW SPRINGLINE. 1 ADDITIONAL
FASTENER IS INSTALLED AT EACH INTERSECTION OF THE
TANGENTS OF THE FRAME AND THE BUCK WHICH IS CUT
AT A 45° ANGLE TO THE FRAME (MIN. 3 PER RADIUS).

OVAL AND CIRCULAR UNITS —
ALL SIDES MAX. 12” ON CENTER CONTINUOUS.

NAILING FLANGES —
4” FROM EACH CORNER AND A MAX 16" ON CENTER.
(NAILING FLANGE IS NOT STRUCTURAL, ANCHORS THROUGH JAMBS MUST BE USED)

R

QUAD QUAD

! ¢ @ i

D T

Y |
¢ >
gq T 3
r O &
M ) . M
~— =ﬂ' T '~ﬂ_ ~—

i I

? ] 1 } i I '

» l | 13" MAX. 4

4 0.C. 4

TYPICAL RADIUS

UNIT ANCHORING

TYPICAL CIRCULAR

UNIT ANCHORING

>=
% .
)
%D:‘-—
O
©U’)l\
L~
Oxo =
223
<EZ<]-
O _ o
D(_l)(\l
Z 5w X
=0x™M
205
ﬂ_
=LD -
Nx2®
0z -
Ol T
AL omao
o
LQLIQU) ZS
A H T
oo Q
Ezgﬁ E%
ng% Eg
Q|
9339l4 §3
EEdS|| & Z
0Q< S <
2 = t*"23
2 %
o o
)—
m
O
<
]
o |
5 6
2 o
|
g v
<
3
N
NE
L0y
Jo
=z
'%WBUILDING
CONSULTANTS, INC
I B13.659.9197

Approved as complying with the

Florida Buiging Cod
Bate
NOA#

2003

rol

paTE:  1/14/03

SCALE:  N.T.S.

DWG. BY: ZRK

CHK. BY: RW

DRAWING NO.:
S—-2329

SHEET _ 5 oF _6




r—mf—ﬁi

mw—j
21"

0

@ FRAME CLADDING

—ﬁ1m”h—

| |

@ JAMB EXTENDER

—={.66"|=—

e RE L o

A il
‘mt»-ﬁ — |— 13"

@ CORNER KEY

1.31”

—= 1.52"

<—mw+ﬁ

& OPTIONAL DRIPCAP

-~ 3.33" ——=

—

~

AN

@ WOOD JAMB

——f 1.09 |
— 122 =

7" H—m%—ﬂi_
XS]
fMJL——— u——Jf

<€>GLASS STOP (UCB)

1@’#—

) Ry
?JyJP—aQ“—J

@ GLASS STOP (IG)

—1.67" =

43" -
@ OPTIONAL NAILFIN

MATERIALS LIST

>=
%E.
a
AL v —
O
SR
L~ _
Oxrxol
Qo+
§<Z¢
Q_ o
Lo
>0 @
Z0ap ™
=35
=L{‘) ~
Nic"®
O =T
. omaA
Q n
|
Bog s
5o &E
ngﬁ <
BT U=
=€kl i
Ozom Q‘O
. @=33l% &
GlE<=|g| o
8 m
2 ke
o [
S
[©]
=
[1'4 7]
e} zZ
I S
[7p]
=z £
< Izl
() 0
Q
<C
Sl
e)
-l
4

ITEM DESCRIPTION MATERIAL
1 | ALUMINUM FRAME CLADDING — .060 WALL (ANODIZING INC.)| 6063—T5 ALUM.
2 | WOOD JAMB F/J LINEAL — (BMC) PONDEROSA PINE
3 | woob 4 9/16” JAMB EXTENDER — (BMC) CLEAR PINE
4 | WOOD GLASS STOP — UCB (BMC) CLEAR PINE
5 | FRAME CORNER KEY — 2 EA. (MITCHELL METAL) 6061~T6511 ALUM.
6 | 15/16" INSULATED TEMPERED GLASS
6A | 15/16" INSULATED ANNEALED GLASS
7 | PRESSURE TREATED 2X BUCK P.T. WOOD
8 | NOT USED
9 | 2" x 15 GA. FINISH NAIL — (STANLEY/BOSTICH) STEEL
10 | 1 1/4" x 16 GA. FINISH NAIL — (STANLEY/BOSTICH) STEEL
11 | 1/4" WOOD SHIM '

12 | #10 x 3" P.H.F.H. WOOD SCREW (CROWN FASTENERS) STEEL
13 | NOT USED STEEL
14 | #8 x 2" P.H.F.H. WOOD SCREW (CROWN FASTENERS) STEEL
15 | #8 x 1 1/2” P.H.F.H. WOOD SCREW (CROWN FASTENERS) STEEL
16 | #8 x 1" P.H.F.H, METAL SCREW (CROWN FASTENERS) COLOR MATCH STL.
17 | 1/4" x 1/8" GLAZING TAPE (3M)

18 | #995 SEALANT (DOW CORNING) SEALANT
19 | NOT USED
20 | NOT USED
21 | WOOD GLASS STOP — IG (BMC) CLEAR PINE
22 | NOT USED
23 | NOT USED
24 | NOT USED
25 | #1199 SEALANT (DOW CORNING) SEALANT

26 | 1 13/16" x 5" SCREW PLATE SIMPSON
27 | #8 x 3/4” SELF~TAPPING P.H.F.H. WOOD SCREW STEEL
28 | 1/8" x 3" BRASS ROD BRASS
29 | 1/8" x 11/32” x 3" STRAIGHT FRAME KEY STEEL
30 | ULTRAEDGE™ GLASS SPACER STEEL
31 | DRIPCAP — (ANODIZING INC.) 6061~T6511 ALUM.
32 | FOLDING NAILING FLANGE — (AMESBURY) POLY
33 | 11 GA. 1—-5/8" ROOFING NAIL GALV. STL.

CONSULTANTS, INC/
813.659.9197

Approved as mmpiymg with the
Bd

Flovida

NOA#R )Xﬂﬂ’/‘lfl’j,

Mmms Bads Produet

DATE: 1/14/03

SCALE:  N.T.S.

DWG. BY: ZRK

CHK. BY: RW

DRAWING NO.:
§$-2329

SHEET 6 oF _6




